INTERNATIONAL INDIAN SCHOOL BURAIDAH
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Class -4th Subject : Maths Date : 5/08/2025
Chapter # 4 Division

A Fill in the blanks:

1) Sharing equally and putting into equal groups both lead to
2) Any number divided by itself gives as the quotient.

3) Any number divided by gives the number itself as the quotient.
4) We cannot divide by
5) The answer in division is called
6) In 835 + 10; Q=83 and R= )
7) Quotient x + remainder = Dividend.
8)273+1=
9)0+19=
10) 18 +2 =9. Then 180 + 20 =
B. Choose the correct answer:
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1) 450 + 90 = .

a)5 b) 9 c) 17

2) The number cannot be divided by

a)l b) 0 c) number itself
3) 160+ 10 =

a) 160 b) 16 c)1l

C. Write True or False.

1) Any number divided by 0 is not possible. ( )
2)819+819=0( )

3) 900 + 10 =90 ( )

4) 8 ice cream costs X72. Then cost of 1 ice cream is X 9. ( )
5)1100 +1=110( )

D. Find the quotient and remainder.

a)8215+2 b)731+14 c) 869 + 43

E. Divide. Check your answer.

a) 224 + 32 b) 7525 + 25

F. Divide the following.
a)X105+3 b)X237.50+5
G. Solve:

1) 9 children pay X315 for a ride at the fair. How much did each ticket cost?
2) The gift for Radhika costs X 659. Seven friends decide to share the cost. What is each
person’s share? How much more money is needed?
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